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On a doubt of a Bais Ha’pras - BB N°2 POO BV

Overview
One of the six 72107 DX PHNMWW MpP°d0 1s a 0797 N°2. There is a dispute between
"1 and NBOIN as to the meaning of a ©757 N2 (herel).
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It appears to the >''2 that the 71wn when it states 07977 n°2 is discussing a field

where a grave was plowed under, so n''7% it is 997V if anything enters there -
- 13397 RIN M1 N9 NNIYWS DSYY 15UHN N

And we are not concerned that he may have moved a bone the size of a barley

(which would make him n"77 Xnv), rather it is X120 only 33972 -
- (3,0 91 2)OP 19193 NOMT RIMNNT KDYV 1 *9ap N TarY DTV YaN

However a field in which a grave was lost that is a n''m%» P20 as is evident in
™'Y Noon —

mMooIn has a question (on >"wId):
= P90 TINN MY YN PAD GN Y9N P INNN 0991Y 15 ON)

So therefore (since a 72p 72 72RW 77V is a XN™MKT Xp°00), why do the asnmon say

(in this mwn) that ‘even on a P20 of touching in a »''777 we are only 110’ -
$NNRLV NN NIV9] ’mpsv Y99 MINVT N 7992 199N

But we learnt in the sixth P29 of n1977w noon that all NP0 in ''719 are N»©; how
can the 0°ndm say 121n?!

Summary
By a 72p 72 728w 77w, which is a Xn»7MKRT Xp 00, the o121 would not have ruled

790 °"70a.

! See footnote # 5.

* It was known where there was a nni 12p in this field, however the field was plowed under and perhaps the bones of
the deceased are now strewn over the entire field. The 0151 were R M for a distance of one hundred nX from
the 73p (in the direction he was plowing), for the concern that he may have moved an 77yw> Xy from the n».

? "7 we assume that the plow did not go deep enough to disturb the 72p. See '01n in p"1» there fDn 7"7.

* This is how %y 7"72 "W explains 0197 2.

3 Mmoo does not mean to say that a 72p 72 728w 77w is not called a 01977 n°3, for the mwn in 7-2"» 1" M7 (cited in
the p" 'm3) states clearly that a 72p 72 728w 77w is one of three 07977 N*2; rather N1DOIN means that the X3 here must be
referring only to a 72p 72 WAMW 77w, but not a 2P 72 TARY 77V in order to avoid the difficulty with the o°nom.

® The xm3 there distinguishes between a 12p 72 wamw 77w which is not 782 Xnvn, and a 72p 72 7TaRW 77w, which is
DR RHLA.

" This (obviously) means Xn>K7 7ikn10 250. However according to m»soin that 0797 N°1 is a 73p 712 WIMw 77w, which
is only a 71277 50, we do not say Xnv 2"7172 11277 ARM™IY o0 (only by a XNMIIRT K 50).
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Thinking it over

n90IN maintains that a 73 72 TIRW ATW is a XNPTRT Xp*00. Why did not msoin
prove that the 07977 n°2 here cannot mean a 12 72 7IXW 77w, because since a 7Y
72p 712 TARW 1S a RNIINT XP°00, why was there a need to make a 71pn that it is Xnvn,
when it i1s X1V since it is a XN7IRT NP’DO?!S

8 See (mxm) KW
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